
 

 مدارس الأوائل النموذجية الخاصة للبنات
 صف الثالث الثانوي العلميلمادة اللغة الانكليزية لل1920-2018للعام الدراسي لشهر تشرين الأولالمنزلية المذاكرة سلم تصحيح أسئلة 

1.Before the invention of the Internet, criminals used to plan their crimes through meetings or telephone 
conversations.        (6 marks) 

2.because the criminals are invisible and their actions may be hard to prove(6 marks) 
3. they may persuade them to pay for something worthless(6 marks) 
========================================================================== 
4.confidential( 6 marks )5. fraud(6 marks)6. to prove(6 marks) 
========================================================================== 
7.It is quite difficult to prosecute a computer criminal successfully because usually nothing is physically 

damaged. (6 marks) 
8.Techno-criminals can order goods without paying.(6 marks) 

========================================================================== 
9.b- wood(6 marks)                             10.a- causes more pollution(6 marks) 

========================================================================== 
11. smooth(6 marks) 12. raw(6 marks)             13. melted(6 marks) 

========================================================================== 
14.less energy(6marks ) 
15.rougher, weaker and darker(6 marks) 

========================================================================== 
16.on( 6 marks )17. because / as( 6 marks )18. was( 6 marks )        
========================================================================== 
19. end(6marks) 20. father's( 6 marks ) 21.let(6 marks)  22. swings(6 marks)    

========================================================================== 
23. Why do animals migrate?(8 marks) 
24. How often do they migrate?(8 marks) 
25. Where do they usually travel?(8 marks) 
26. Any logical answer is accepted.(8 marks) 

========================================================================== 
27. I wish I could sing well.(8 marks) 
28. I wish our town would collect rubbish often enough.     (8 marks) 

========================================================================= 
29.all presenttenses/ future simple (7 marks)   
30. result clause conditional type 2 with would + Vo(7 marks) 

========================================================================== 
31.violent( 6 marks )32.property(6 marks 
)========================================================================== 
33.had finished( 6 marks )  34. was working( 6 marks )      35.will travel( 6 
marks)============================================================================ 

 10 ).لإبقاء مياه الأمطار بعيدة \يغطى بغطاء طيني لإبعاد مياه المطر  يصبح المكب الصحي ممتلئ \ب الصحي حالما يمتلئ المك \ما أن .37
marks ) 

 
38. We have to respect the law /laws to live a safe life / a secure life without violence.( 8 marks ) 


